[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

6 8 10 12 14 16 18 20
track x?

(%] 1%} 4] 0
x X < x
[=} [=} o (5]
g g g 8
[} [} Q
< 2
2 s 8107
o
=]
o
=} =] =] =}
T I T T
14 o 14 o
N TT:# R : : : P N
12 14 16 18 20 02 4 6 8 10 12 14 16 18 20 % 8 10 12 14 16 18 20 27
track x2 track x2 track x2
T PN OTia Step2 e phese tTeeTT -
[ Nofreco track vs. 4 ———— BéM—ledSEE emBTa{eeu&ﬂnSquar s%egf%%r-grﬂasel-newqeam
(%] 1%} 2]
x < %
8 g g
= = §
E 8
=} =]
T T
14 14




	Contents
	Page 1


